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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
Total Quostions : 50 Guidelines for the Candidate:
1. Additional 10 Ten) minutes willbe given to the students o fillup the students' information before the.

startof the exam.
2. Alquestions are compulsoryand carry equal marks. There s nonegative marking. Use of calculator

isnotpermitted.

3. WiiteyourName, Roll Numberand Class clearly on the Answer Sheet and donotforget tosign.
4. Thereisonlyone correct answer hence mark one choice only.
5. Darkenyourchoice with HB Pencil or Blue/Black Ball Point Pen only. For Example :

Q16: Anumberhas ineones, sixtens and sight undreds. Whatis the number?
) 860 ® 9%
© 98 © 9
s he correct answer i opton No. (A), he candidats shoud darken th cice caresponding 1o opton No. (A)
5. Roughworkshoudbe donein the blank space providedin the booklel.
7. Retur the answer sheet o the invigilator at the end of the exam. The queston paper can be.

retained by the student.
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What Is the um of the shadod parts if shaded parts are expressed in fractions

1 n P
* 5 [
n 4
© 5 ©
R
AR

in the table,
of fr Sidaha
® 12 (8) 60 | Stddharth
o Armaan

0 5 _Amaan

3. Which net will make this figuro?

# Tho given table shows the starting and ond time of a movie at
& theatra. According to the information in the table, which ef e
following statements is truo?

{8 Th end time is axacly 2 hours 45 minutes aftor the star .
(B} The end time is exacly 2 hours 15 minutes afer the soe e
{€) The end time is exacty 3 hours 30 minutes afer the st e
{9) The end timeis exacty 3 hours 45 minutes afer tho str i

5. Which of the folloy

LT T ——"
® PaiGoy (@) Parony
© QmiRow ) Qusony

€ Mruck departsfrom a distrbution cantor. From thare, It goos 2 blocks oast,
3 blocks south and 3 blocks north. How far and In whieh dieepr. must

the truck go to got back to the distribution centor? w-
(B) 4 blocks west (B) 4 blocks east

(€) 2 blocks west () 2 blocks east

7- Tho lotters S and 7 stand for numbars. If § - 100 = 7- 100, which statement is 1y

@ s=7 ® s>7 (© $=7+100 © s>7
8 Class A has highor enrolment than Class B,

Class C has a lower enrolment than Class B,

Class A has a lower enrolment than Class C.

If the first two statoments aro true, the third statement s

®) Truo (8) Faise () Uncertain (0) None,
4O | Lovet | Ciss 6 =
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[image: image3.jpg]Rahul put his timoplace on the table in such a way that at 6:00 P.M. the hour hand points to North,
[n which direction will tho minute hand point at 9:157

(&) SouthEast (8) South (©) North () West

% Which number will be on the face opposite to the face which has 2 on it ?
w1

2 4
®) 5 "- .
B L LPLY

Study the diagram and identify the studénts who play all the three games. A
®) Pra+R P e B
[OER

® ver
© s+T+v
© s

Arrange the words given below in a meaningful sequence.
() Fibre (i) Plant (i) Saree () Cotton (v) Cloth
(A1 . vy (o). (0, ) (BY (. (). G, (). () () G (), . (). 6 ©) (i, (), (), i, )

Sixfrlands P, . R, S, T and U aro sitting around a hoxagonal table, cach at ono corner and aro facing
{he contre of tho hexagon. P is second to the laft of U. Q s neighbour of R and S. T Is socond ty
the loft of S. Who is sitting opposite to P 7

w R ® a © 1 © s

Which lattr replaces tho question mark? ®&m®®
A M ®) P @ @ @
(C! £ (}77 Vl @ G.) @

. Which of the following optians can re

Which single transformation Is shown below?
(8) Reflecion

(®) Roation 7{- i

(€) Transiation
(D) None of thase.

[ Lookat the square and the cubo shown in figure. Which of the following statoments about both of
these figures appears to bo trus?

(&) The square has 4 times as many vertices as the cube.

(B) The square is congruent to each face on the cube.

() The square has 3 fewor sidos than the cube has edges.

{0) The square has the same number of right angles s the cube.
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16. The list given balow shows the numbar of students out of 30 who chose differen
cafoteria.

(i) 11 studonts chose pizza. (i) 4 studonts chose hamburgel
(iil) 3 studonts chose tacos. (iv) _2_ studonts chose salad.
How many students chose salad 7

(&) 18, because 11+4 +3= 18 (B) 26, bocause 30 ~ (11 ~4-3)=

(C) 12, because 30— 11-4 =3 =12 (D) 20, because 30— (11 -4 )~ 3+

19. Look at the graph:

Numbr of messsges

A iy et Vietmasany oy Fiday Swurdar
On which day did Kirti raceivo the fowest text messages?
(8) Tuesday (@) Wednesday (©) Thursday © Fie

20. A coach conducted a survey to dotormine how many students plan o tryout tenn
results of the survey are shown bolow.
() A total of 30 students plan to tryout tennis. (i) A total of 40 students plan
{iii) 10 students plan to tryout both tennis and golf.
Which of the following diagrams best represents this information ?
Tryouts Tryouts Tryouss

AL

®) ° ®) ° © “‘T‘ £ “ © E

SECTION Il : MATHEMATICAL REASONING

21, Sneha bisects an angle to form two new angles. If the original angle
had a measure of 8°, what Is the measure of each now angle?
w & (@) 20° © 4 ©

22. Rehan attendod a basketball camp for two wecks. His parents paid ¢ 50.00, whict

o attending the camp. Rehan had saved money to pay the rast of the cost. Which
used to find ¢, the entire cost of attending the camp?

@ emsoxl @© c=50%3 @ = Gosy © ¢

23. Which digit makes the given sentence true?
56,314,707 Is divisible by 5.
© s © 1

@ 4 ® 5
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[image: image5.jpg]24, @S and TV are parallel fines.
Which angles are supplementary anglos?

) 2vuwand 20RP

(B) £VUW and ZSRU

(© 2vuwand ZVUR

(D) 2VUW and R

25. A veterinarian weighed all the dogs that visited har office last month.
Use the data to complete the frequency chart shown below.

Dog weights (Ibs)
23,27, 27, 39, 43, 45, 46, 47, 49, 50, 53, 55, 58, 58, 59, 64, 71, 83, 84, 86, 8
Find the missing number.

Dog woights
20-29]30-39 | 40-45[ 5059 60-69| 70-79|80-89

R e (O )

@ s ® 5 © 9 © 8

26. Prachi took a total of 2 hours to writo 30 party invitations. Which of the following equations can
be used to find m, the number of minutes Prachi took to write 1 invitation?
(W) (©0+30)+2=m (B) (0x30)+2=m () 60+2)x0=m (0) (€0x2)+30=m

27. Which symbol Is located at =3 on the number line shown below?

® <> ® Q

25. Tho figuro is made of three squares joined together. o

What is the area of the figure In square cm ? sl
() 9 square em i
(®) 18 square om
(©) 27 square cm sem
(©) 81 square cm

2. Vihich of the following squares would you shade 1o make tho figure symmetrical? L3t
® BansD (®) AandC ol
(© pandC ©) BanaC e[ [ [8

30. The given table shows the area, in square kilomatres, of four fa
Lake E has @ greater area than Lake O but a smallor area than
Lake M. Which could bo the area of Lako E 7

(R) 76760 kmi
(8) 57800 ki
(€) 25700 ki
(D) 18,960 k'
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[image: image6.jpg]31. Sara is counting by 's. If she starts counting at ~30, what aro tho two missing n

30,27, 24,21, 7,

2|

® -18.-15 ® -19.-17 (© -20,-13 © -2

32. Which of the following statements about the 3-dimensional figuro appears to be t
(A) 1t has no congruent faces.
(B) It has 3 congruent roctangular faces,
(C) 1t has 6 congruent faces.
(0) It has 3 congruent triangular faces.

33. Which equation does this.

t of algobra tiles represent?

) X+1=10
(B) X+6=10
© x+

©) x+6=3

34, Find the value of (24 - 16) x 8 = 64 + (10~ 2) + 4.
® 6 ® s © 1 © 2

35. Karan is k yoars old. Rahul's ago, r, is 6 more than 2 times Karan's age. Which ¢
equations bost reprosents Rahul's age?
B r=@+2% ®) k=246 (©) r=2k+6 © k=

36. Abhay found the perimeter of a squaro to bo 12 motros. Which of the following cc
find the length (1) of one cdge of the square?
@ 1=ax12 (®) 1=1244 © I=4+12 ©
37.. Vikas Electronics Storo s having a sale. To advertiso the sale, the storo
manager wants to outline the store window with colourful ribbon,
How many metres of ribbon will be needod to outling tho 4 sides of the r
window?
@ Bm ® 26m
© 19m © 32m

38. Which relationship botwoen units of time s correct?

1 1
(A) Oe hour is 55 of one year (B) One houris 4. of ono hour

1 1
(€) One sacond is ¢ of ane minute (0) One minute is g of one secon
39. Rohan rolled 3 falf number cubes, and the numbors shown below came out on to
If each number is used only once, which group shows all the 3-digit numbers that ca

these digits?
(A) 456 565, 654, 544, 655, 645 (8) 456, 546, 654, 645, 556, 654, 5

(C) 456, 465, 564, 654, 546, 444 (D) 456, 465, 564, 546, 645, 654
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40. Lok for the pattern of the three soquence of numbers given below.

2,4,6,810
7,14,21,28, 35
11,22,33,44, 55
Each sequence is an examplo of what kind of numbers?
(&) Even numbers (B) Multplos (©) Primes (D) Odd numbers

SECTION Ill : EVERYDAY MATHEMATICS

1. Ms. Neha noads 1o replace the batteries in 20 calculators. Each caleulator usas 4 battories, Tho
batteries are sold in packages of 16. How many packages of batterics doos Ms. Neha nead to buy?

@ 8 ® 4 (© &0 © s

. e kg i e e 5 3 i e s e S

3 1 ong, which rcton et raprssnis th parn et 1o ofth agnel s

B ® tm © im © 3m

43 It takes 90 minutes o wash 20 vehiclos at a car wash. At this rato, how many minutes doos it take
to wash 5 vehiclos?

®

W z2mns @ e © 2ime @ 1l

44 Tho weckly milk order of Aryan's shop includes 40 litres of low-fat milk and 15 litees of chocolate milk.
What s the ratio of the litres of low-fat milk to chocolato milk in Aryan's weekly milk order?

(R (B 5:1 © 5:3 e

5. Sneha earns < 110 cach week taking care of pots. Which of the following is the bost estimate of how
much money she will oam in 28 weeks while taking caro of the pets?

®) 71000 (®) 500 (©) 29000 (0) 23080

46. Ata park, Ashmit intends to hire a buggy to help him get around moro casily. The table shows the
rate for hiring a buggy.

Doposit T2
First hour 1z

Every additional hour | 1 10
and part thoroof

Ashmit intends to hire the buggy from 8:15 a.m. to 2:30 p.m. How much doos he have to pay?
® tes (8) T (© 256 ) 76

47. Coach Kabir neads to buy 12 T-shirts for the girl's basketball team. Tha list bolow shows the prices
of T-shirts at 2 stores.
(i) Store X : One T-shirt costs ¢ 250 Store Y : Apackago of 6 T-shirts costs T 1200.
What is the amount of money coach Kabir wil save If he buys 12 T-shirts from stora Y 7

[ORT (®) 2400 (©) 21650 [URES

48. Thero were 180 membors in the club last year. The membership dacraased by 1% this year. How
many membrs are thore this yaar ?
) 27 (| 135 (© 153 (0) 207
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[image: image8.jpg]49. Armaan recoived ¥ 2800 as a gift. He wanted o use the money to go to the movies
book. He wantad to save the money he had left. Which s the correct order of stops to fi
of money Armaan would have left to save?

Step K : Find the sum of the costs of the movio and tho book.
Stop L : Find the difference betwoon ¢ 2800 and the sum of the costs of the mo;
Stap M : Identify the cost of the movie and the cost of the book.

@ LKM 8 M.KL © LMK © KL

50, Mohit sliced an orange into circular pieces o put into a bowl of punch. The pieca sho
a radius of 4 centimatres. Which exprossion can be used to find the approximato circ
this picce of orango?

&) mx @y
® 4xn
© 2xmx7
© 2xrxa

‘SPACE FOR ROUGH WORK
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